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= StrefaTemp. Hx
15, praegrod Wik
1 852 1-40ana zewngtrma 1,5
2 8L, 07 10rzwi zewnatrne 40
3| L0z 100 zewnetrme %3]
4| sz 3bcme mnerma 125
5 2 Ly |07 1-0kno zennetrzne 44
6 | sz adomazewnarma 517
7 | Loz 10k zewnevane 0
s % 07 1.0kn0 zennerne 2,0
B #5257 1-40ana zewnetrana %3
| sz 5dena enctrana 11,7
1| L, 07 100 zewnerme 44
12 L, bz 1oraw zewnatrme 55
5 52 52 4 Scana zewnetrma 50,7
1 % Ly 07 1-0kno zewngtrane 44,0]
15 8L, 07 toraw zeanevme 55|
® #8252 35cena zewnatrna 119
17 8 Ly[02 1-0rzwi zewnetrzne 33|
18| sz 4Scena zeanema 155
18 8 Ly[02 1-0rzwi zennetrzne 22
| |82 350mne ewnatrma 81
21 8 Ly[D2 10rzwi zevnetrzne 22
2 88852 150na zennatma 44
2 2 L, 07 1.0kn0 zennetrne 0
2 #5852 1.80ana zewnetrma 93,1]
25 | 22 L, |07 1-0kno zennetzne 91,3
%|  |alpian 227





